

**NAME: FAMOROTI AYOKUNLE IFE-OLUWA**

**MATRIC NO: 15/ENG04/024**

**DEPARTMENT: ELECTRICAL/ELECTRONIC  
ENGINEERING**

**COURSE: ENG 381**

**ASSIGNMENT 1**

ATT PAPER

NAME: FADHAT AYOKUNLE JFE-0101-A

MATRIC NO: 15/ENG44/2024

DEPARTMENT: ELECTRICAL/ELECTRONIC ENGINEERING

COURSE: ENG 381

1  $\frac{d^2y}{dx^2} - \frac{dy}{dx} - 2y = 0$

$m^2 - m - 2 = 0$

$m_1 = 2, m_2 = -1$

$y = Ae^{2x} + Be^{-x}$

$y = 0$

$\frac{dy}{dx} = 0$

$\frac{d^2y}{dx^2} = 0$

$0 - 0 - 2C = 0$

$-2C = 0$

$C = -4$

$y = Ae^{2x} + Be^{-x} - 4$

2  $\frac{d^2y}{dx^2} - 4y = 10e^{2x}$

$m^2 - 4 = 0$

$m_1 = 2, m_2 = -2$

$y = Ae^{2x} + Be^{-2x}$

$y = Ce^{2x}$

$\frac{dy}{dx} = 2Ce^{2x}$

$\frac{d^2y}{dx^2} = 4Ce^{2x}$

$4Ce^{2x} - 4(Ce^{2x}) = 10e^{2x}$

$Ce^{2x}(4 - 4) = 10e^{2x}$

$5Ce^{2x} = 10e^{2x}$

$5C = 10$

~~$C = 2$~~   $C = 2$

$y = Ae^{2x} + Be^{-2x} + 2$

$$3) \quad \frac{d^2y}{dx^2} + 2\frac{dy}{dx} + y = e^{-2x}$$

$$m^2 + 2m + 1 = 0$$

$$m = -1$$

$$y = e^{-x}(A + Bx)$$

$$y = Ce^{-2x}$$

$$y = (xe^{-2x})$$

$$\frac{dy}{dx} = (e^{-2x} - 2xe^{-2x})$$

$$\frac{d^2y}{dx^2} = 4xe^{-2x} - 4e^{-2x}$$

$$(4Cxe^{-2x} - 4Ce^{-2x}) + 2(Ce^{-2x} - 2Cxe^{-2x}) + (Cxe^{-2x}) = e^{-2x}$$

$$4Cxe^{-2x} - 4Ce^{-2x} + 2Ce^{-2x} - 4Cxe^{-2x} + Cxe^{-2x} = e^{-2x}$$

$$4Cx - 4C + 2C - 4Cx + C = 1$$

$$-2C = 1$$

$$C = -1/2$$

$$[I] \quad y = -1/2 xe^{-2x}$$

$$[II] \quad y = e^{-x}(A + Bx) - 1/2 xe^{-2x}$$

$$4) \quad \frac{d^2y}{dx^2} + 25y = 5x^2 + x$$

$$m^2 + 25 = 0$$

$$m = \pm 5i$$

$$m = \pm 5i$$

$$y = A(\cos 5x + B\sin 5x)$$

$$y = (x^2 + Cx + D)$$

$$\frac{dy}{dx} = 2Cx + D$$

$$\frac{d^2y}{dx^2} = 2C$$

$$C + 25(x^2 + Cx + D) = 5x^2 + x$$

$$C + 25x^2 + 25Cx + 25D = 5x^2 + x \quad \Rightarrow \quad 25x^2 + 25Cx + 25D - 5x^2 - x = 0 \quad \Rightarrow \quad 20x^2 + 25Cx + 25D - x = 0$$

$$20x^2 - 5x^2$$

$$25Cx - 25Cx + x$$

$$C = 1/20$$

$$25(1/20) + 25D - 25 = 0$$

$$25(1/20) = 5/4$$

$$5/4 + 25D - 25 = 0$$

$$D = 1/20$$

$$[I] \quad y = x^2/5 + 2/5 - 1/20$$

$$[II] \quad y = A(\cos 5x + B\sin 5x) + (x^2/5 + 2/5 - 1/20)$$

$$5) \quad \frac{d^2y}{dx^2} - 2\frac{dy}{dx} + y = 4e^{-x}$$

$$m^2 - 2m + 1 = 0$$

$$m = 1$$

$$y = e^x (c_1 + c_2 x)$$

$$y = e^{-x} (c_1 + c_2 x)$$

$$\frac{dy}{dx} = -e^{-x} (c_1 + c_2 x) + c_2 e^{-x}$$

$$\frac{d^2y}{dx^2} = -e^{-x} (c_2 - c_2 x) - c_2 e^{-x}$$

$$-e^{-x} (c_2 - c_2 x) - 2(-e^{-x} (c_1 + c_2 x) + c_2 e^{-x}) + e^{-x} (c_1 + c_2 x) = 4e^{-x}$$

$$-e^{-x} (c_2 x - c_2) + 2e^{-x} (c_1 + c_2 x) - 2c_2 e^{-x} + e^{-x} (c_1 + c_2 x) = 4e^{-x}$$

$$-c_2 x + c_2 + 2c_1 x + 2c_2 x - 2c_2 + c_1 + c_2 x - 2c_2 = 4e^{-x}$$

$$2c_1 x - 2c_2 = 4e^{-x}$$

$$2c_1 = 4$$

$$c_1 = 2$$

$$-2c_2 = 0$$

$$c_2 = 0$$

$$\text{Hence } y = 2e^{-x}$$

$$\text{Ans } y = e^x (c_1 + c_2 x) + 2e^{-x}$$

$$6) \quad \frac{d^2y}{dx^2} + 4\frac{dy}{dx} + 5y = 2e^{-2x}$$

$$m^2 + 4m + 5 = 0$$

$$m = -2 \pm i$$

$$y = e^{-2x} (c_1 e^{ix} + c_2 e^{-ix})$$

$$y = e^{-2x} c$$

$$\frac{dy}{dx} = -2e^{-2x} c$$

$$\frac{d^2y}{dx^2} = 4e^{-2x} c$$

$$4e^{-2x} c + 4(-2e^{-2x} c) + 5(e^{-2x} c) = 2e^{-2x}$$

$$4e^{-2x} c - 8e^{-2x} c + 5e^{-2x} c = 2e^{-2x}$$

$$e^{-2x} (4c - 8c + 5c) = 2e^{-2x}$$

$$4c - 8c + 5c = 2$$

$$c = 2$$

$$\text{Hence } y = 2e^{-2x}$$

$$y = e^{-2x} [A(1+x) + B(1+x)^2] + 2e^{-10x}$$

Let  $x=0, y=1, dy/dx = -2$

$$1 = e^{-2 \cdot 0} (A(1+0) + B(1+0)^2) + 2e^{-10 \cdot 0}$$

$$1 = A + 2B$$

$$A = 1 - 2B$$

$$A = -1$$

$$dy/dx = -2e^{-2x} (-A(1+x) + B(1+x)^2) - 20e^{-10x}$$

$$-2 = -2e^{-2 \cdot 0} (-A(1+0) + B(1+0)^2) - 20e^{-10 \cdot 0}$$

$$-2 = -2(-A + B) - 20$$

$$-18 = -2 + 4B$$

$$-20 = 4B$$

$$B = -5$$

$$y = e^{-2x} (-1(1+x))$$

$$x^2 y'' - 2xy' - y = 2x^2 - 1$$

$$m^2 - 2m - 1 = 0$$

$$m_1 = -1, m_2 = 1$$

$$y = Ae^{-mx} + Bx^2$$

$$y = Cx^2 + D$$

$$dy/dx = 2Cx$$

$$y(1) - y(0) = (1 + 0 + 1) - 0$$

$$-y(1) - (1 + 0) = 2 \cdot 1 - 1$$

$$-1 - 1 = 2C - 1$$

$$-2 = 2C - 1$$

$$-1 = 2C$$

$$C = -1/2$$

$$-y(0) - 0 = -1$$

$$-D = -1$$

$$D = 1$$

$$y = -1/2 x^2 + 1$$

$$y = -1/2 x^2 + 1$$

$$y = Ae^{-mx} + Bx^2 = -1/2 x^2 + 1$$

$$3 \quad \frac{d^2 y}{dx^2} - 7 \frac{dy}{dx} + 11y = pe^{-4x}$$

$$m^2 - (7 + 11) = 0$$

$$m_1 = 2, \quad m_2 = 4$$

$$y = Ae^{2x} + Be^{4x}$$

$$y = e^{4x}$$

$$\frac{dy}{dx} = 4e^{4x}$$

$$\frac{d^2 y}{dx^2} = 16e^{4x}$$

$$16e^{4x} - 7(4e^{4x}) + 11(e^{4x}) = pe^{-4x}$$

$$16e^{4x} - 28e^{4x} + 11e^{4x} = pe^{-4x}$$

$$e^{4x}(16 - 28 + 11) = pe^{-4x}$$

$$11e - 28e + 11 = p$$

$$= 0$$

$$\therefore \text{G.F. } y = Ae^{2x} + Be^{4x}$$